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REPRODUCTION IN ANIMALS

Exercise

1. Which life process ensures that a plant or

animal species will not disappear from the

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PWWUH77iE8tu


earth ?

A. Reproduction

B. Metamorphosis

C. Cloning

D. None of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PWWUH77iE8tu


2. What is the name of the reproductive

process which involves two parents ?

Watch Video Solution

3. What is the name of the reproductive

process which involves only one parent?

Watch Video Solution

4. Name two animals which reproduce sexually.

https://dl.doubtnut.com/l/_z8AHpWuJmF7L
https://dl.doubtnut.com/l/_XR182z2OrFsg
https://dl.doubtnut.com/l/_LqQKpvxzn9Qz


Watch Video Solution

5. Name two animals which reproduce

asexually.

Watch Video Solution

6. State whether human beings reproduce by

sexual method or asexual method

Watch Video Solution

https://dl.doubtnut.com/l/_LqQKpvxzn9Qz
https://dl.doubtnut.com/l/_2Z1PZwxD8cSD
https://dl.doubtnut.com/l/_sDeIWc9tzeX6
https://dl.doubtnut.com/l/_0w1OsRvpeEMU


7. Which type of reproduction: 

a) involves gamets ?

Watch Video Solution

8. Which type of reproduction does not involve

gametes?

Watch Video Solution

9. Give another term for a fertilised egg.

https://dl.doubtnut.com/l/_0w1OsRvpeEMU
https://dl.doubtnut.com/l/_YH08eOZuKBME
https://dl.doubtnut.com/l/_CRLEfjiRcQiK


Watch Video Solution

10. Name the process of the fusion of gametes.

Watch Video Solution

11. Do all animals give birth to individuals like

humans ?

Watch Video Solution

https://dl.doubtnut.com/l/_CRLEfjiRcQiK
https://dl.doubtnut.com/l/_UbHjOF5xehHt
https://dl.doubtnut.com/l/_HkHPKT4h1vgO


12. What is the other name of sex cells?

Watch Video Solution

13. What are the organs in humans which

produces the gametes ?

Watch Video Solution

14. What are the male gametes in humans

called ?

https://dl.doubtnut.com/l/_pgsKeA2e4xlk
https://dl.doubtnut.com/l/_y1EKaLaXdy8T
https://dl.doubtnut.com/l/_esmYrdfA1Uun


Watch Video Solution

15. Name the organs which produce male

gametes .

Watch Video Solution

16. What are the female gametes in humans

called ?

Watch Video Solution

https://dl.doubtnut.com/l/_esmYrdfA1Uun
https://dl.doubtnut.com/l/_SDapZLyxWu28
https://dl.doubtnut.com/l/_mNGoM6qUHyv3
https://dl.doubtnut.com/l/_WnViVjCvsVHF


17. Name the organs which produce female

gametes.

Watch Video Solution

18. Name the organs which produce sperms in

humans.

Watch Video Solution

https://dl.doubtnut.com/l/_WnViVjCvsVHF
https://dl.doubtnut.com/l/_Fx2OlgYoxQdl


19. Name the organs which produce eggs ( or

ova) in humans .

Watch Video Solution

20. What do the testes in a man produce ?

Watch Video Solution

21. What do the ovaries in a woman produce ?

Watch Video Solution

https://dl.doubtnut.com/l/_s748r0wJzlsC
https://dl.doubtnut.com/l/_7Y1fRxClcO4s
https://dl.doubtnut.com/l/_43xfqL0uT8H0


22. Which organ of the human body passes

sperms from a man to a woman ?

Watch Video Solution

23. In which female reproductive organ does

the embryo get embedded ?

A. Fallopian tubes

B. Ovary

https://dl.doubtnut.com/l/_43xfqL0uT8H0
https://dl.doubtnut.com/l/_nCaG21wHOcLY
https://dl.doubtnut.com/l/_Km6XjkYChgHw


C. Uterus

D. Vagina

Answer: C

Watch Video Solution

24. Which stage comes earlier in the

development of a human baby from zygote :

foetus or embryo ?

Watch Video Solution

https://dl.doubtnut.com/l/_Km6XjkYChgHw
https://dl.doubtnut.com/l/_h2fy5goQpipX


25. Name the technique which is used to help

a woman with blocked oviducts to have a baby.

Watch Video Solution

26. Write the full name of IVF.

Watch Video Solution

27. What is the success rate of IVF technique

of reproduction in humans ?

https://dl.doubtnut.com/l/_vJEbXd5X26Pn
https://dl.doubtnut.com/l/_6dTFSFCVe8Nx
https://dl.doubtnut.com/l/_k7X36rMJCFo2


Watch Video Solution

28. What type of fertilisation takes place in a

hen ?

Watch Video Solution

29. What term is used for the change from

tadpole to frog.

Watch Video Solution

https://dl.doubtnut.com/l/_k7X36rMJCFo2
https://dl.doubtnut.com/l/_6UZfwY0TtW3E
https://dl.doubtnut.com/l/_4KJpkW1Yjp5X
https://dl.doubtnut.com/l/_HWir0qNXeYWO


30. Name two animals which produce embryos

that grow into larvae before transforming into

adults.

Watch Video Solution

31. What term is used for 'bulges' observed on

the sides of the body of Hydra?

Watch Video Solution

https://dl.doubtnut.com/l/_HWir0qNXeYWO
https://dl.doubtnut.com/l/_8YDwugOSRb2r


32. What type of fission takes place in Amoeba

?

Watch Video Solution

33. Name one animal each which reproduces

by binary fission.

Watch Video Solution

https://dl.doubtnut.com/l/_F7piFAXODbV6
https://dl.doubtnut.com/l/_4EjwCCB2LfGF


34. Name one animal each which reproduces : 

(b) by budding .

Watch Video Solution

35. Name the asexual method of reproduction

:

(a) in Hydra.

Watch Video Solution

https://dl.doubtnut.com/l/_mtaUIM7Rqlqq
https://dl.doubtnut.com/l/_SKig7yOXxAy1


36. Name the asexual method of reproduction

:

(b) in Amoeba.

Watch Video Solution

37. Name the technique which was used in

producing 'Dolly' the sheep.

Watch Video Solution

https://dl.doubtnut.com/l/_0JYGkvDneCQR
https://dl.doubtnut.com/l/_VZ7aGFTuDCT7


38. Name the parent sheep of which Dolly was

a clone.

Watch Video Solution

39. What name is given to the following ? 

An animal which is an exact copy of its

parents.

A. Zygote

B. Embryo

https://dl.doubtnut.com/l/_6o9pSbAtqJsB
https://dl.doubtnut.com/l/_JJbu0WFOhGLl


C. Clone

D. None of the above

Answer: C

Watch Video Solution

40. What are the two general methods of

reproduction in organisms ?

Watch Video Solution

https://dl.doubtnut.com/l/_JJbu0WFOhGLl
https://dl.doubtnut.com/l/_IPKV5nrsHOLU


41. State whether the following statements are

true or false: 

a) Each sperm is a single cell

Watch Video Solution

42. State whether the following statements

are true or false: 

b) A new human individual develops from a

cell called gamete.

Watch Video Solution

https://dl.doubtnut.com/l/_gnaRourDJBmp
https://dl.doubtnut.com/l/_6KNiNfKAUYQx


43. State whether the following statements

are true or false: 

c) Egg laid after fertilisation is made up of a

single cell.

Watch Video Solution

44. State whether the following statements

are true or false: 

d) A zygote is formed as a result of

fertilisation.

https://dl.doubtnut.com/l/_6KNiNfKAUYQx
https://dl.doubtnut.com/l/_0cA0V2bL863c
https://dl.doubtnut.com/l/_iawW8Htz1atd


Watch Video Solution

45. State whether the following statements

are true or false: 

e) External fertilisation takes place in frog.

Watch Video Solution

46. State whether the following statements

are true or false: 

f) An embryo is made up of a single cell.

https://dl.doubtnut.com/l/_iawW8Htz1atd
https://dl.doubtnut.com/l/_xRGYf9URNCrL
https://dl.doubtnut.com/l/_uwcdytDm4POu


Watch Video Solution

47. State whether the following statements

are true or false: 

g) Oviparous animals give birth to young ones.

Watch Video Solution

48. State whether the following statements

are true or false: 

h) Internal fertilisation takes place in hens.

Watch Video Solution

https://dl.doubtnut.com/l/_uwcdytDm4POu
https://dl.doubtnut.com/l/_z9QCjiLhuYqd
https://dl.doubtnut.com/l/_KeQPuFpGrEz5


49. State whether the following statements

are true or false: 

i) The hens give birth to chicks like human

beings give birth to babies.

Watch Video Solution

50. State whether the following statements

are true or false: 

j) Amoeba reproduces by budding.

https://dl.doubtnut.com/l/_KeQPuFpGrEz5
https://dl.doubtnut.com/l/_4todeq3u7Hyd
https://dl.doubtnut.com/l/_5b7zQtb0ilRv


Watch Video Solution

51. State whether the following statements are

true or false: 

k) Binary fission is a method of asexual

reproduction

Watch Video Solution

52. State whether the following statements

are true or false: 

https://dl.doubtnut.com/l/_5b7zQtb0ilRv
https://dl.doubtnut.com/l/_95nNyFrMVULp
https://dl.doubtnut.com/l/_FIDnTWawLvHN


l) Fertillisation is a necessary even in asexual

reproduction .

Watch Video Solution

53. State whether the following statements

are true or false: 

Cloning is a sexual reproduction method in

mammals.

A. True

B. False

https://dl.doubtnut.com/l/_FIDnTWawLvHN
https://dl.doubtnut.com/l/_D6dseaeKjzvs


C. All of these

D. None of these

Answer: A

Watch Video Solution

54. Fill in the following blanks with suitable

words: 

a) The process of …………. Ensures continuity of

life on earth.

Watch Video Solution

https://dl.doubtnut.com/l/_D6dseaeKjzvs
https://dl.doubtnut.com/l/_qz0rL8f4jnZ8


55. Fill in the following blanks with suitable

words: 

The cells involved in sexual reproduction are

called ……….

Watch Video Solution

56. Fill in the following blanks with suitable

words: 

https://dl.doubtnut.com/l/_qz0rL8f4jnZ8
https://dl.doubtnut.com/l/_8YqVTd2HQ3HX
https://dl.doubtnut.com/l/_R6hNIZfXsyT7


c) Fusion of gametes gives rise to a single cell

called ………..

Watch Video Solution

57. Fill in the following blanks with suitable

words: 

d) The process of fusion of gametes is called

…………..

Watch Video Solution

https://dl.doubtnut.com/l/_R6hNIZfXsyT7
https://dl.doubtnut.com/l/_JIP6GeXSZwif


58. Fill in the following blanks with suitable

words: 

e) The other name of egg cell is ………

Watch Video Solution

59. Fill in the following blanks with suitable

words: 

f) A sperm is much …………. Than an egg cell.

A. smaller

B. larger

https://dl.doubtnut.com/l/_tEq7DM1KUmoZ
https://dl.doubtnut.com/l/_cohGGwDsqT8W


C. brighter

D. dimmer

Answer: B

Watch Video Solution

60. Fill in the following blanks with suitable

words: 

g) In humans , one mature egg (or ovum) is

released into oviduct every ……….. By one of the

ovaries.

https://dl.doubtnut.com/l/_cohGGwDsqT8W
https://dl.doubtnut.com/l/_Mh6ivSegGJif


A. year

B. day

C. month

D. second

Answer: C

Watch Video Solution

61. Fill in the following blanks with suitable

words: 

https://dl.doubtnut.com/l/_Mh6ivSegGJif
https://dl.doubtnut.com/l/_K1efWp60LfRJ


h) The egg laying animals are called ………….

Animals.

Watch Video Solution

62. Fill in the following blanks with suitable

words: 

i) The cow is a ………… animal where ostrich is an

………. Animal.

Watch Video Solution

https://dl.doubtnut.com/l/_K1efWp60LfRJ
https://dl.doubtnut.com/l/_gO1C1us98xR1


63. Fill in the following blanks with suitable

words: 

j) The change of caterpillar into an adult silk

moth is called ………

Watch Video Solution

64. Fill in the following blanks with suitable

words: 

k) The larva of frog is called …………

Watch Video Solution

https://dl.doubtnut.com/l/_ZdKg47x7m0Ji
https://dl.doubtnut.com/l/_1PaEctGtUSK6


65. Fill in the following blanks with suitable

words: 

l) The two common methods of asexual

reproduction in animals are ………… and …………

Watch Video Solution

66. Fill in the following blanks with suitable

words: 

m) Dolly, the sheep, was produced by the

technique called …………..

https://dl.doubtnut.com/l/_1PaEctGtUSK6
https://dl.doubtnut.com/l/_n7ynaCCH7f9e
https://dl.doubtnut.com/l/_VONNWGCSlMnp


Watch Video Solution

67. What is the basic difference between

asexual and sexual reproduction ?

Watch Video Solution

68. Which of the following organisms

reproduce by sexual method and which by

asexual method ? 

Amoeba, Cats, Humans , Hydra , Birds

https://dl.doubtnut.com/l/_VONNWGCSlMnp
https://dl.doubtnut.com/l/_Eeho3EphwUaw
https://dl.doubtnut.com/l/_b8UHo1O8ZAW4


Watch Video Solution

69. What is meant by the terms 'internal

fertilisation' and 'external fertilisation' ?

Explain with examples .

Watch Video Solution

70. Draw a labeled diagram of female

reproductive system. Answer

Watch Video Solution

https://dl.doubtnut.com/l/_b8UHo1O8ZAW4
https://dl.doubtnut.com/l/_UBFVus2Fnuse
https://dl.doubtnut.com/l/_Y6H7r6UokNGA


71. Where is the human body does an egg ( or

ovum ) get fertilised ?

Watch Video Solution

72. Where does a fertilised egg ( or zygote )

develop into a baby in the human body ?

Watch Video Solution

https://dl.doubtnut.com/l/_ezZIXkZB1lhX
https://dl.doubtnut.com/l/_DPItUWGPgqhM


73. Which type of fertilisation takes place in

the following ? 

a) Cow

Watch Video Solution

74. Which type of fertilisation takes place in

the following ? 

b) Frog

Watch Video Solution

https://dl.doubtnut.com/l/_eLoOL9eE7rIe
https://dl.doubtnut.com/l/_4jB4Gkni60Fu
https://dl.doubtnut.com/l/_s1ECieKaYfHH


75. Which type of fertilisation takes place in

the following ? 

c) Humans

Watch Video Solution

76. Which type of fertilisation takes place in

the following ? 

d) Fish

Watch Video Solution

https://dl.doubtnut.com/l/_s1ECieKaYfHH
https://dl.doubtnut.com/l/_Eh34VisRGahQ
https://dl.doubtnut.com/l/_Cqo9jLCw8iqb


77. Which type of fertilisation takes place in

the following ? 

e) Hen

Watch Video Solution

78. Why do female frogs ( or female fish ) lay

hundreds of eggs ?

Watch Video Solution

https://dl.doubtnut.com/l/_Cqo9jLCw8iqb
https://dl.doubtnut.com/l/_HfQuNPa0heuG


79. What is meant by an 'embryo' ? Can we

identify the body features in an embryo ?

Watch Video Solution

80. Give two differences between a zygote, an

embryo and a foetus .

Watch Video Solution

https://dl.doubtnut.com/l/_nri9LvFGnxck
https://dl.doubtnut.com/l/_Y6DptS3q41Jn


81. Describe the various steps involved in the

sexual reproduction in animals.

Watch Video Solution

82. Draw a labeled diagram of male

reproductive system.

Watch Video Solution

https://dl.doubtnut.com/l/_t7mLUq6c4LmC
https://dl.doubtnut.com/l/_X68uzYzlMj5E


83. Define foetus. After how many weeks of

development, a human embryo is said to

become a foetus ?

Watch Video Solution

84. What is metamorphosis ? Give two

example of metamorphosis.

Watch Video Solution

https://dl.doubtnut.com/l/_2STo2I5L5b1d
https://dl.doubtnut.com/l/_mGFjX3ZElWSa


85. What is difference between viviparous

animals and oviparous animals ?

Watch Video Solution

86. Which of the following are oviparous

animals and which are viviparous animals ? 

Frog, Human being, Sparrow, Lizard , Cow, Dog,

Hen, Fish, Butterfly, Cat.

Watch Video Solution

https://dl.doubtnut.com/l/_tiCumrdWMqtZ
https://dl.doubtnut.com/l/_joJwBueBEcdr
https://dl.doubtnut.com/l/_CXzM9QSWR4uJ


87. Give five example each of animals which

develop: 

a) inside the mother.

Watch Video Solution

88. Give five example each of animals which

develop: 

b) Inside eggs which the mother lays.

Watch Video Solution

https://dl.doubtnut.com/l/_CXzM9QSWR4uJ
https://dl.doubtnut.com/l/_3uVOUYqXg69W
https://dl.doubtnut.com/l/_qYoJp5R8osUV


89. Explain how, chicks are born. How much

time does the embryo present in hen's egg

take to develop into a chick (when provided

sufficient warmth )?

Watch Video Solution

90. In which of the following animals the

embryos develop fully inside the mother's

body and in which they develop fully in the

eggs laid by mother ? 

https://dl.doubtnut.com/l/_qYoJp5R8osUV
https://dl.doubtnut.com/l/_4oAfYiV9HHmW


Cow , Butterfly, Silk moth, Humans, Frog,

Housefly, Sparrow, Hen, Mosquito, Monkey.

Watch Video Solution

91. What are gametes ?

Watch Video Solution

92. In which sort of reproduction are gametes

involved ?

Watch Video Solution

https://dl.doubtnut.com/l/_4oAfYiV9HHmW
https://dl.doubtnut.com/l/_i8VTdNR3VDiG
https://dl.doubtnut.com/l/_41rzUhd419Xo


93. What is formed when two gametes fuse ?

Watch Video Solution

94. What is this act of fusion called ?

Watch Video Solution

95. Match the terms given in column A with

those given in column B :

https://dl.doubtnut.com/l/_41rzUhd419Xo
https://dl.doubtnut.com/l/_DHpUacUEWy1C
https://dl.doubtnut.com/l/_NAHkSVTvOdJx
https://dl.doubtnut.com/l/_Go1mKOaTapLU


Watch Video Solution

96. Differentiate between internal fertilisation

and external fertilisation. What type of

fertilisation takes place in (a) frog and (b) fox ?

Watch Video Solution

https://dl.doubtnut.com/l/_Go1mKOaTapLU
https://dl.doubtnut.com/l/_CuDQ7IjCfEKb


97. What is meant by 'cloning' ? State whether

gametes are involved in cloning or not. Name

two animals which have been produced by

cloning.

Watch Video Solution

98. What is meant by 'reproduction' ? Why is it

essential ?

Watch Video Solution

https://dl.doubtnut.com/l/_lZywJ4PJ5zSG
https://dl.doubtnut.com/l/_OMFIqYe1SY65
https://dl.doubtnut.com/l/_RFn2TWXa5aMf


99. Define asexual reproduction. Name two

methods of asexual reproduction in animals.

Name two animals which reproduce by these

asexual reproduction methods.

Watch Video Solution

100. What is a clone ? Name one famous clone.

Watch Video Solution

https://dl.doubtnut.com/l/_RFn2TWXa5aMf
https://dl.doubtnut.com/l/_587Uj9cDsiww


101. Explain the term 'fertilisation'. Describe

the process of fertilisation in human beings.

Watch Video Solution

102. Draw a labelled diagram to show the

fertilisation of a human egg by a sperm to

form a zygote.

Watch Video Solution

https://dl.doubtnut.com/l/_PX6ttAieQdjN
https://dl.doubtnut.com/l/_A3vQIYshbyxe


103. What type of couples are helped to have

babies by the in vitro fertilisation technique ?

Watch Video Solution

104. Describe the 'in vitro fertilisation'

technique of reproduction in humans.

Watch Video Solution

https://dl.doubtnut.com/l/_wWImMiHBmQb4
https://dl.doubtnut.com/l/_7TDklKqzT6fH


105. What are viviparous animals ? Give two

examples of viviparous animals.

Watch Video Solution

106. What are oviparous animals ? Give two

animals of ovipaorus animals.

Watch Video Solution

https://dl.doubtnut.com/l/_qvt9SSR0KlXl
https://dl.doubtnut.com/l/_yZ1dzZHng2hk


107. How does an Amoeba reproduce ?

Describe with the help of labelled diagrams.

Watch Video Solution

108. How does a Hydra reproduce ? Explain

with the help of labelled diagrams.

Watch Video Solution

109. Internal fertilisation occurs:

https://dl.doubtnut.com/l/_m5Fm8QZxYpcS
https://dl.doubtnut.com/l/_aeXAlcc4DMt0
https://dl.doubtnut.com/l/_Cne0W8cWYTky


A. in female body

B. outside female body

C. in male body

D. outside male body.

Answer: A

Watch Video Solution

110. The number of nuclei present in a zygote

is :

https://dl.doubtnut.com/l/_Cne0W8cWYTky
https://dl.doubtnut.com/l/_3tNpJZpwUItu


A. none

B. one

C. two

D. four

Answer: B

Watch Video Solution

111. A tadpole develops into an adult frog by

the process of :

https://dl.doubtnut.com/l/_3tNpJZpwUItu
https://dl.doubtnut.com/l/_01qcajCVcB56


A. fertilisation

B. metamorphosis

C. embedding

D. budding

Answer: B

Watch Video Solution

112. Fertilisation results immediately in the

formation of :

https://dl.doubtnut.com/l/_01qcajCVcB56
https://dl.doubtnut.com/l/_MtHt6su0LZXv


A. a zygote

B. an embryo

C. a placenta

D. a foetus

Answer: A

Watch Video Solution

113. Which of the following is not a part of the

human male reproductive system ?

https://dl.doubtnut.com/l/_MtHt6su0LZXv
https://dl.doubtnut.com/l/_CDq0MhSgia73


A. testes

B. oviducts

C. seminal vesicles

D. epididymis

Answer: B

Watch Video Solution

114. Which of the following is not a viviparous

animal ?

https://dl.doubtnut.com/l/_CDq0MhSgia73
https://dl.doubtnut.com/l/_jNmjg8LlAy0n


A. rat

B. lizard

C. rabbit

D. cat

Answer: B

Watch Video Solution

115. The multicellular organism which

reproduces by budding is :

https://dl.doubtnut.com/l/_jNmjg8LlAy0n
https://dl.doubtnut.com/l/_fm5m9XyhBTdw


A. Amoeba

B. Yeast

C. Paramecium

D. Hydra

Answer: D

Watch Video Solution

116. In sexaal reproduction , two offsprins

having the genetic material and the same

body feaures are called.

https://dl.doubtnut.com/l/_fm5m9XyhBTdw
https://dl.doubtnut.com/l/_X0bM2664Kgtz


A. callus

B. twins

C. chromosomes

D. clones

Answer: D

Watch Video Solution

117. Which of the following animals does not

show metamorphosis ?

https://dl.doubtnut.com/l/_X0bM2664Kgtz
https://dl.doubtnut.com/l/_9wBJAzQpDrkA


A. fish

B. frog

C. silk moth

D. mosquito

Answer: A

Watch Video Solution

118. Asexual reproduction is :

A. a fusion of specialised cells

https://dl.doubtnut.com/l/_9wBJAzQpDrkA
https://dl.doubtnut.com/l/_CSh84EA2PlN2


B. a methode by which all types of

organisms reproduce

C. a method producing genetically identical

offsprings

D. a method in which more than one

parent are involved.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CSh84EA2PlN2


119. Which of the following organisms

reproduces by binary fission ?

A. Hydra

B. Yeast

C. Amoeba

D. Sea anemone

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_SGbCoqqwWw7h
https://dl.doubtnut.com/l/_jokHhx7wtnbS


120. Which of the following is not an oviparous

animal ?

A. snake

B. fish

C. rat

D. frog

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jokHhx7wtnbS


121. Tadpole is the larva of :

A. fish

B. frog

C. mosquito

D. butterfly

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Wpy9gLSwYD4v


122. The production of an exact copy of an

animal by asexual reproduction is known as :

A. budding

B. mating

C. cloning

D. hatching

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CnbDZx5FNPuo
https://dl.doubtnut.com/l/_f5WYrZ9tRPel


123. One of the following is not a part of the

human female reproductive system. This one is

A. ovary

B. uterus

C. scrotal sacs

D. oviducts

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_f5WYrZ9tRPel


124. Reproduction is essential for living

organisms in order to

A. keep the individual organism alive

B. fulfil their energy requirements

C. maintain growth

D. continue the species for ever .

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_k3tEunIu9Q07
https://dl.doubtnut.com/l/_yOrQnfiN3sgp


125. One of the following occurs in the

reproductive system of flowering plants as

well as that of humans. This is :

A. sperm ducts

B. anther

C. ovary

D. style

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yOrQnfiN3sgp
https://dl.doubtnut.com/l/_ZmlO84T4AXt7


126. In human males, the testes lie in the

scrotal sacs outside the body because it helps

in the :

A. process of mating

B. formation of sperms

C. easy transfer of sperms

D. all the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZmlO84T4AXt7


127. Characterstics that are transmitted from

parents to offsprings during sexual

reproduction show :

A. only similarities with parents

B. only variations with parents

C. both similarities and variations with

parents.

D. neither similarities nor variations with

parents.

https://dl.doubtnut.com/l/_IKq1ARsns8qX


Answer: C

Watch Video Solution

128. Offspring formed as a result of sexual

reproduction exhibit more variations because

A. sexual reproduction is lengthy process

B. genetic material comes from two

parents of different species.

https://dl.doubtnut.com/l/_IKq1ARsns8qX
https://dl.doubtnut.com/l/_E2T0rexT4iNC


C. genetic material comes from two

parents of same species

D. genetic material comes from many

parents

Answer: C

Watch Video Solution

129. Two very small organisms X and Y both

reproduced by the method of budding

.Organism X is industirally very important

https://dl.doubtnut.com/l/_E2T0rexT4iNC
https://dl.doubtnut.com/l/_U5PKg3a7BZVf


because it is used in making alcohol from

sugar. It is also used in making bread.

Organism Y is a tiny animal having tentacles

which lives in water. 

a) What is organism X ?

Watch Video Solution

130. Two very small organisms X and Y both

reproduced by the method of budding

.Organism X is industirally very important

because it is used in making alcohol from

https://dl.doubtnut.com/l/_U5PKg3a7BZVf
https://dl.doubtnut.com/l/_MThUVM98XUQ7


sugar. It is also used in making bread.

Organism Y is a tiny animal having tentacles

which lives in water. 

b) Name the process in which X converts sugar

into alcohol.

Watch Video Solution

131. Two very small organisms X and Y both

reproduced by the method of budding

.Organism X is industirally very important

because it is used in making alcohol from

https://dl.doubtnut.com/l/_MThUVM98XUQ7
https://dl.doubtnut.com/l/_JzyqumDa8nE8


sugar. It is also used in making bread.

Organism Y is a tiny animal having tentacles

which lives in water. 

c) To which class of organisms does X belong?

Watch Video Solution

132. Two very small organisms X and Y both

reproduced by the method of budding

.Organism X is industirally very important

because it is used in making alcohol from

sugar. It is also used in making bread.

https://dl.doubtnut.com/l/_JzyqumDa8nE8
https://dl.doubtnut.com/l/_KdpZcbn2LW3M


Organism Y is a tiny animal having tentacles

which lives in water. 

d) What is organism Y ?

Watch Video Solution

133. Two very small organisms X and Y both

reproduced by the method of budding

.Organism X is industirally very important

because it is used in making alcohol from

sugar. It is also used in making bread.

Organism Y is a tiny animal having tentacles

https://dl.doubtnut.com/l/_KdpZcbn2LW3M
https://dl.doubtnut.com/l/_fCg1wwMIUYFl


which lives in water. 

e) Out of X and Y, which organism is

multicellular and which one is unicellular ?

Watch Video Solution

134. A unicellular organism P lives in pond

water. The organisms P has no fixed shape , its

shape keeps on changing. It moves and

catches its prey with the help of organs Q

which keep on appearing and disappearing.

The organism P reproduces by a process R.

https://dl.doubtnut.com/l/_fCg1wwMIUYFl
https://dl.doubtnut.com/l/_U2bvgdAzwPfH


Another organism S also reproduces by this

process. Name P, Q ,R and S.

Watch Video Solution

135. The animal A which is classified as an

amphibian lays eggs in pond water. The

hatching of its eggs produces a tailed - form B

which looks very different from the animal A .

The form B then undergoes a change C and

gets converted into animal A. 

a) Name (i) animal A, and (ii) form B.

https://dl.doubtnut.com/l/_U2bvgdAzwPfH
https://dl.doubtnut.com/l/_rQxYbeDar414


Watch Video Solution

136. The animal A which is classified as an

amphibian lays eggs in pond water. The

hatching of its eggs produces a tailed - form B

which looks very different from the animal A .

The form B then undergoes a change C and

gets converted into animal A. 

b) What is the change C known as ?

Watch Video Solution

https://dl.doubtnut.com/l/_rQxYbeDar414
https://dl.doubtnut.com/l/_UBAkmQ6npfN5


137. The animal A which is classified as an

amphibian lays eggs in pond water. The

hatching of its eggs produces a tailed - form B

which looks very different from the animal A .

The form B then undergoes a change C and

gets converted into animal A. 

c) Name the breathing organs of A.

Watch Video Solution

https://dl.doubtnut.com/l/_TExIlMOv67OC


138. The animal A which is classified as an

amphibian lays eggs in pond water. The

hatching of its eggs produces a tailed - form B

which looks very different from the animal A .

The form B then undergoes a change C and

gets converted into animal A. 

d) What are the breathing organs of B ?

Watch Video Solution

https://dl.doubtnut.com/l/_RCbawq5mrg7S


139. X and Y are the two type of animals. The

animals like X undergo external fertilisation

whereas animals like Y undergo internal

fertilisation. The animals like X lay eggs from

which baby animals are hatched. On the other

hand, in animals like Y, the young one develops

inside the uterus of mother which then gives

birth to the baby. 

a) Wha tis the general name of animals like X ?

Watch Video Solution

https://dl.doubtnut.com/l/_tZcmkuMiMHwD
https://dl.doubtnut.com/l/_ecjYi4yp6sM6


140. X and Y are the two type of animals. The

animals like X undergo external fertilisation

whereas animals like Y undergo internal

fertilisation. The animals like X lay eggs from

which baby animals are hatched. On the other

hand, in animals like Y, the young one develops

inside the uterus of mother which then gives

birth to the baby. 

b) Give two examples of animals like X.

Watch Video Solution

https://dl.doubtnut.com/l/_ecjYi4yp6sM6


141. X and Y are the two type of animals. The

animals like X undergo external fertilisation

whereas animals like Y undergo internal

fertilisation. The animals like X lay eggs from

which baby animals are hatched. On the other

hand, in animals like Y, the young one develops

inside the uterus of mother which then gives

birth to the baby. 

c) What is the general name of animals like Y ?

Watch Video Solution

https://dl.doubtnut.com/l/_nBBOGmrAHTHY
https://dl.doubtnut.com/l/_SDuSeVoLiM5C


142. X and Y are the two type of animals. The

animals like X undergo external fertilisation

whereas animals like Y undergo internal

fertilisation. The animals like X lay eggs from

which baby animals are hatched. On the other

hand, in animals like Y, the young one develops

inside the uterus of mother which then gives

birth to the baby. 

d) Write the names of two animals like Y.

Watch Video Solution

https://dl.doubtnut.com/l/_SDuSeVoLiM5C


143. A is an insect which breeds in ponds of

stagnant water. The egg of this insect

produces a worm like form B which is entirely

different in appearance from the adult insect.

The form B undergoes a change C and gets

converted into insect A . The female of insect A

is a carrier of protozoan D which spreads a

disease in humans. 

a) What are A , B, C , and D ?

Watch Video Solution

https://dl.doubtnut.com/l/_2birfTAz5fqX
https://dl.doubtnut.com/l/_Lnb0lY3zIpBR


144. A is an insect which breeds in ponds of

stagnant water. The egg of this insect

produces a worm like form B which is entirely

different in appearance from the adult insect.

The form B undergoes a change C and gets

converted into insect A . The female of insect A

is a carrier of protozoan D which spreads a

disease in humans. 

b) Name another insect which also undergoes

changes C.

Watch Video Solution

https://dl.doubtnut.com/l/_Lnb0lY3zIpBR

